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AP Statistics Packets 22-31

Packet #22:

1. 4-Step Practice Questions
Packet #23:

1. Chapter 8 Practice Test in Textbook page 549-550
Packet #24:

1. Read through Section 9.1 Notes and look over examples on pages 555-562 in textbook.
Packet #25:

1. Watch the following videos: ***They are not examples from your book (ignore page numbers),
but walks you through examples very similar.
a. https://www.youtube.com/watch?v=AfV5LDh02FU
b. https://www.youtube.com/watch?v=phG70gPRQDO

Packet #26:

1. Complete the following problems on textbook pages 563-565 problems 2, 12, 18, 22, and 24.
Packet #27:

1. 9.1 Worksheet
Packet #28:

1. Read through Section 9.2 Notes and look over examples on pages 569 — 580 in textbook.
Packet #29:

1. Watch the following videos: ***They are not examples from your book (ignore page numbers),
but walks you through examples very similar.

a. https://www.youtube.com/watch?v=WR2P6Pd 52A
b. https://www.youtube.com/watch?v=gR62zVooKfl4

Packet #30:
1. Complete the following problems on textbook pages 581 — 583 problems 36, 40, 42, and 44.
Packet #31:

1. Potato Chip Problem
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4-step practice questions

1. Suppose we are interested in finding out the proportion of the population at EKHS that
has seen The Office. We contact an SRS of 100 students in the school. Of these 100
students, 63 report seeing The Office. Find a 85% confidence interval for the true proportion
of EKHS students who have seen The Office.

2. Mr. Wilcox has done over 50 track days at Gingerman Raceway in South Haven Michigan.
He keeps track of each lap time (in seconds) and has found that they follow an approximately
normal distribution. A random sample of 9 laps shows a mean laptime of ¥ = 102.4 seconds

with a standard deviation of s_= 3.2 seconds. Create a 80% confidence interval for Mr.

Wilcox's career average lap time.

3. Mrs. Gallas was an all-star basketball player in high school. To prove that she still has
skills, she took 50 free throws and made 31 of them. Think of these 50 shots as being a
random sample of all the free throws she has ever taken. Find a 99% confidence interval for
the true proportion of free throws Mrs. Gallas would make.
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A Better Golf Club?

Mike is an avid golfer who would like to improve his play. A friend suggests getting new clubs and lets Mike try out his 7-
iron. Based on years of experience, Mike has established that the mean distance that balls travel when hit with his old
7-iron is p =175 yards with a standard deviation of o =15 yards. He is hoping that this new club will make his shots

with a 7-iron more consistent (less variable), so he goes to the driving range and hits 50 shots with the new 7-iron

(a) Describe the parameter of interest in this setting.

(b) State appropriate hypotheses for performing a significance test.

Based on 50 shots with the new 7-iron, the standard deviation was s_ = 10.9 yards. A significance test using the sample
data produced a P-value of 0.002.

{c) Interpret the P-value in this context.

(d) Do the data provide convincing evidence against the null hypothesis? Explain.

{e) interpret the result in part d in context.
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_ A potato-chip producer has just received a truckload of potatoes. from its main supplier. If the
producer determines that more than 8% of the potatoes in the shipment have blemishes, the truck
will be sent away to get another load from the supplier. A supervisor selects a random sample of
500 potatoes from the truck. An inspection reveals that 47 of the potatoes have blemishes. Carry
out a significance test at the a. = 0.10 significance level. What should the producer conclude?



